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TPT5610 TRANSISTOR (PNP)

FEATURES

e Excellent linearity of Current Gain

e Low saturation voltage
e Complementary to TPT5609

MAXIMUM RATINGS (Ta=25°C unless otherwise noted)

TO-92L

1. EMITTER

2. COLLECTOR

3. BASE

Symbol Parameter Value Units
Vceo Collector- Base Voltage -25 \Y; 123
Vceo Collector-Emitter Voltage -20 \Y
Veso Emitter-Base Voltage -5 \Y
Ic Collector Current -Continuous -1 A
Pc Collector Power Dissipation 0.75 W
T; Junction Temperature 150 °C
Tstg Storage Temperature -55-150 °C
ELECTRICAL CHARACTERISTICS (Tamb=25°C unless otherwise specified)

Parameter Symbol Test conditions MIN TYP MAX | UNIT
Collector-base breakdown voltage V@ericso | Ic=-10pA, 1g=0 -25 \
Collector-emitter breakdown voltage Vericeo | Ic =-1mA, Ig=0 -20 \Y,
Emitter-base breakdown voltage V@ereso | le=-10pA, Ic=0 -5 \
Collector cut-off current Iceo Ve=-20V, [g=0 -1 HA
Emitter cut-off current leBO Veg=-5V, Ic=0 -1 HA
DC current gain hee Vce=-2V, Ic=-500mA 60 240
Collector-emitter saturation voltage Veesay | 1c=-800mA, Ig=-80mA -0.5 \%
Base-emitter voltage VBe Vee=-2V, Ic=-500mA -1 \%
Transition frequency fr Vce=-2V, Ic=-500mA 350 MHz
Collector output capacitance Cob Vce=-10V, Ig=0, f=1MHz 38 pF
CLASSIFICATION OF hge
Rank A B C
Range 60-120 85-170 120-240
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Typical Characteristics

Typical Output Characteristics
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DC Current Transfer Ratio heg

TPT5610

DC Current Transfer Ratio vs.Collector Current

3,000
' R
VCE =2V
1,000 Pulse
Sl Ta =75°C
— - =4
100 =——H 25°C 1T
30
10
-1 3 10 -30 100 -300 —1,000

300

Collector Current Iz (mA)

Collector Output Capacitance vs.
Collector to Base Yoltage

100

f=1MHz

[ %]
=

Collector Qutput Capacitance Cg, (pF)
g

=y
=]

1

_3 —10 —30
Collector to Base Voltage Veg (V)






